1)
-1
—1]
-1
S



< STEREO >
4 0 AR~ (I RINENE &R 6 b 48k SR 8 0 #4kk )
E—AE 400 0M~(7—F + K&IHE 2 h)

< STEREO SIDE B >

2 0 R~ RINAENE EIFIRE S 0 4k VLB 6 0 445k )
A.3500MB.4000M C.5000M(WwIFNd7—F +8KAKE2H)
A kea—2 3000




< NEL>

< RF[HE >

<E\BH>

<KFJY)vr7>

< @A >

< ERLRRHEL >

N=N[d

STEREO

4 04k~ WmRIAEANE &K 6 b4tk RIS 0 fAkk

4000M~E—AKRH7D

SEI 1 50 (¥ 3 00 ZA3 00 —F74—1207 8K 15%)

oy 7xARYAN (KR )
TN EbET7 — PR L £ 7 (HEX2REH, VB —T 4 —H%)

2 IR ABCE (BB 1 O i R v 7 AY —F & T 15 5RiA——A v 7))
R Z@N=A7 7 —ICTITHEXL,ZITFEL, 77 A TER L £7,

247/ 7aYxz27%—(PCorDVD)/ Evaws—yv / F XAk

2 20Tk (4 2 ARR0L L) / ST RIEEL (B — ALY OGFC T2 £ 9) /
TIT 4 V7 — R (RS ROy — X 2 ECIHERL 7)) / HATHT S
HBOEME (HEDR Yy 7R3 L o0 DY K= KL £7 )/ RRIERIERL (T —5 D
HEREL £ 9, AlZEBERAG TRV L $T)/ ZMH, @, ZAGIREH /
FRLHEEL / v vy T — (KA T RE IS TR CHERL £97)

|

1 0001000 |0 ,
O O 2
OO0 OO0 8 ;
ololelelel® O 5
Sxe O Os550 ||

,~ O00000
0O
AT — LWCJ




< N#>

< >

< IRFfE >

<EBHE>

<Ky >

< @A >

< fEERMR I >

C=a NN =N H TN

STEREO SIDE B

2 0k~ BRARIUAEANE &S 0 bk SLRKF 6 0 #hk

Aa—2Z23500MH/Ba—24000MH/Ca—Zx5000M E—-AkdH7%D
fEl Xz a—x 3000HM

SHFE 1 547 (¥ 3 047 ZA3 03 =74 —12057B% 1549)
NR=T74—=1807IFBOLEVDH7D +80 0 TTHETEET

B2y 7 xRAY AL (CKRIFEEE)
TN EDbET7 — FPREE L £ 7 (X X&H, VB —T 14 —H%)

2 RFHIRAMOE (BaR 1 ORI R ¥ 7 A% — bk #& T 15 A =84 — A+ v 7°)
FUY 7@ N=A7 =TT, ZIFEL, 77 AR TEHCL 7,

~A4 7/ 7uyzr7%—PCorDVD)/ Evavws—v / FzFRE

2 407 kL (2 2 4RR0L ) / IR (B — ALY O GFIC T2 £§) /
VLT 4 V7 — X R (RS T REM D7 — X 2R CTHERL £9) / FETHTS
BOEME (FEDR Y vy 7L o0 DY K= FEL £7 )/ BRRIERIERL (T —5 D
AL £ 9, HIEBERASGTEHVL £7)/ ZH6, @E, ZAGIRED /
FRCEEH /

HT v —
OO000O Q0O O AD T
) C) ZAY
O
OO0O000O QO

OOO0O OO OOOO

00
L1 OO0




FREE DRINK MENU

WHISKY
NA R—L
A—INA R—)b
UY=L R

SOFT DRINK
7 —u U
FLyyya—2A
JV=TTN=Y 2%
a—37

‘\/\\\/“/‘\J('—l—}l/

GIN BASE COCKTAIL
AV = He R — 4
Ty x— AYAFL VY
A AYAT V=TT )=
TYIA L FA4FFL VY
FLYT T A SAFL—F T =
FA4F =7
VODKA BASE By Y —
A=Y AN A LY
VA A v F— AV TV=TTN=Y
EAAIa2—) ATE—=
A7 12— RS54 N— 77 —%—7)L
AR A E—Fo—nv
RUM BASE APPLE WINE
AN = 7w TN R—)L
X 2 — N N— 7N —
VIV I N—) Ty Iva—7
BEER
BN VAR =L

S VT ANT

OTHERS
A JEIT
FBERT
A
R4 v
H7 A~
%7 4

HYE—F 3

FRL—% —

ATV 7 —

75 2T BHEG L ET




